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[[max_threads(MAX_FIFO_DEPTH), async]] void Executelnstruction(uint 32 instrld_in, Instruction
instr_in, float32 beta_in, InstrFenceType sweeplnstrFenceBase_in, b...

uint32 randomVal = m_random.next();
uint32 valve;

if (Yinstr_in.m_instruction.m_accumulate)

{
float32 prob = from_uint<32>(randomval);
float32 recip = rcp(beta_in);
float32 prob_tmp = sub<Denorm::0ff>(log2(prob), 32.0);
float32 valve_f = mul<Denorm::0ff>(prob_tmp, recip);
sim_assert(lt<Denorm::0ff>(0.0, valve_f));
auto convert = to_int<32>(valve_f);
sim_assert(convert.is_valid);

if(laccumulate)

uintl[PipelinePerkngine] values;
unrolled_for(const auto pipe_id : PipelinePerkEngine)

EnergyType deltaEnerty =  ALG::sum<EnergyType, EnergyType,
MAX_TERMS_IN_INSTRUCTION>(tempEnergy[pipe_id]);

uintl cur_val = cast<uintl>(independent_vals >> pipe_id);
if(deltaEnergy <= 0)

// fliping_must happen
cur_val = cur_val;

else
if (deltaEnergy <= valve)

cur_val = “cur_val;
it (probing)
{

atomic
m_accept_incr_energy++;

}
3

values[pipe_id] = cur_val;
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